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1. Pradhan Mantri Jan-Dhan Yojana’ has
been launched for

A

Lol Vo -
Bt ST

faj providing housing’ loan to poor
people at cheaper interest rates

promoting  women’s  Self-Help
Groups in backward areas

(b)

{c)

promoting financial inclusion in the
country

fd) providing financial help to the

marginalized communities

2. With reference to the Fourteenth Finance
Commission, which of the following
statements is/are correct?

1. It has increased the share of States
in the central divisible pool from
32 percent to 42 percent.

2. It has made recommendations

concerning sector-specific grants.

Select the correct answer using the cod
given below,

(a)
{bj
fc)
{d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

3. The TFortaleza Declaratién’,
the news, is te

fa) ASEA
(b) BRICS
c) OECD
{d) WTO

ntly in
airs of

4. A decrease in tax to GDP ratic of a
country indicates which of the
following?

1.
2.

Slowing economic growth rate

Less equitable
naticnal income

distribution of
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@ 7. Consider

Select the correct answer using the code
given below.

faj 1 only

(b} 2 only

fcj Both 1 ang 2
{d}] Neither 1 nor 2

5. In the South Atlantic and South-Eastern
Pacific regions in tropical latitudes,
cyclone does not originate. What is the
reason?

fa) Sea surface temperatures are low

(b}

ce of land in those regions

offe of the following pairs of States
ia indicates the easternmost and
ternmost State?

i1

Assam and Rajasthan

Arunachal Pradesh and Rajasthan
Assam and Gujarat

Arunachal Pradesh and Gujarat

the following statements
regarding the Directive Principles of
State Policy :

1. The Principles spell out the socio-
economic  democracy in  the
country.

2. The provisions contained in these

Principles are not enforceable by
any court.

Which of the statements given above
is/are correct?

{a)
(b}
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2
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8. In the Index of Eight Core Industries’, 11. What can be the impact of excessive

which one of the following is given the inappropriate use of nitrogenous
highest weight? fertilizers in agriculture?
fa) Coal production 1. Proliferation of nitrogen-fixing

microorganisms in soi! can occur.
b) Electrici eneration . .. )
f v e 2. Increase in the acidity of soil can

{c) Fertilizer production take place.
{d) Steel production 3. Leaching of nitrate to the ground-
water can occur.
9. Which of the following National Parks is Select the correct answer using the code
unique in being a swamp with floating given below.
vegetation that supports a rich
biodiversity? (a) 1 and 3 only
_ ) _ b) 20
(a) Bhitarkanika National Park {c)‘ i 3 ofly
{b) Keibul Lamjao National Park d) 1, 3
(] Keoladeo Ghana National Park 12 ref@rence to the International Union
d) Sultanpur National Park r Bonservation of Nature and Natural
urces (IUCN) and the Convention
10. Which of the following statements is/are on Il:itemationa:l Trade in Endangered
correct regarding National Innovatio Species  of Wild ' Fauna and Flt?ra
Foundation-India (NIF)? (CITES), which of the following

statements is/are correct?

I. IUCN is an organ of the United
Nations and CITES is an
international agreement between

1. NIF is an autonomous of
the Department of Scie
Technology under
Government,

governments.
2. NIF is 'an fnitlati l:lgﬂ'fen 2. IUCN runs thousands of field
. s sment:‘fic projects around the world to better
s prem'ler manage natural environments.
collaboration _ o
vanced foreign 3. CITES is legally binding on the

States that have joined it, but this
Convention does not take the place
Select the correct answer using the code of national laws.

given below. Select the correct answer using the code

given below.

{a) 1 only

fa) 1 only
(b) 2 only (b} 2 and 3 only
fc) Both 1 and 2 fc) 1 and 3 only
fd} Neither 1 nor 2 {d 1,2 and 3
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13. The Fair and Remunerative Price {FRP) of
sugarcane is approved by the

fa) Cabinet Committee on Economic
Affairs

(b} Commission for Agricultural Costs
and Prices

c) Directorate of Marketing and
Inspection, Ministry of Agriculture

(d) Agricultural Produce Market
Committee

14. What explains the eastward flow of the
equatorial counter-current?

fa) The Earth’s rotation on its axis

{b} Convergence of the two equatorial
currents

(¢} Difference in salinity of water
{d} Occurrence of the belt of calm near
the equator

15. Consider the following pairs :

Place of Pilgrimage

1. Srisailam
2. Omkareshwar

3. Pushkar
Which of th

correctly m ed?
fa) 1 only

() 2 and 3 o

f¢) 1 and 3 only
{dl 1, 2 and 3

16. With reference to Rowlatt Satyagraha,
which of the following statements is/are
correct?

1. The Rowlatt Act was based on the
recommendations of the ‘Sedition
Committee’.

B-AQN-O-JUA/63A 6

2. In Rowlatt Satyagraha, Gandhiji
tried to utilize the Home Rule
League.

3. Demonstrations against the arrival
of Simon Commission ceoincided
with Rowlatt Satyagraha,

Select the correct answer using the code
given below,

fa) 1 only

fb) 1 and 2 only
fc} 2 and 3 only
fd} 1,2 and 3

17. Among e llowing, which were

fre n merttioned in the news for
the o ealp of Ebola virus recently?

a) Syria®and Jordan
Cﬂﬁnea, Sierra Leone and Liberia
¢} JPhilippines and Papua New Guinea
Jamaica, Haiti and Surinam

8." With reference to fly ash’ produced by

the power plants using coal as fuel,
which of the following statements is/are
correct?

1. Fly ash can be used in the
production of bricks for building
construction.

2. Fly ash can be used as a
replacement for some of the
Portland cement contents of
concrete.

3. Fly ash is made up of silicon
dioxide and calcium oxide only,

. and does not contain any toxic

¢ elements.

Select the correct answer using the code

given below.

{a) 1 and 2

{b) 2 only

fe} 1 and 3

{d} 3 only
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19. With reference to ‘dugong’, a mammal
found in India, which of the following
statements is/are correct?

1. Itis a herbivorous marine animal.

2. It is found along the entire coast of
India.

3. It is given legal protection
under Schedule I of the Wildlife
(Protection) Act, 1972,

Select the correct answer using the code
given below.
faj 1 and 2
(b) 2 only
f¢g 1 and 3
(d) 3 only

20. Who of the following was/were economic
critic/critics of colonialism in India?
1. Dadabhai Naoroji
2. G. Subramania lIyer
3. R. C. Dutt

Select the correct answer usin
givent below.
{a) 1 only

{b) 1 and 2 N
fci 2 and@on
{d} 1, 2 and
21. Which one of the following issues the

‘Global Economic Prospects' report
periodically?

fa) The Asian Development Bank

(b} The European Bank for
Reconstruction and Development

{¢) The US Federal Reserve Bank
{d} The World Bank

B-AQN-O-JUA/63A
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22. When the Reserve Bank of India reduces
the Statutory Liquidity Ratio by 50 basis
points, which of the following is likely to
happen?

{a) India’s GDP growth rate increases
drastically

(b} Foreign Institutional Investors may
bring more capital into our country

{c) Scheduled Commercial Banks may
cut their lending rates

{d) It may drastically reduce the
liquidity to the banking system

23. With reference to the use of nano-
technolo ealth sector, which of the
foll®wiristateMents is/are correct?

1. e drug delivery is made
possible by nanotechnology.
N@otcchnology can largely
ontribute to gene therapy.

ect the correct answer using the code
given below.

fa) 1 only

(b} 2 only

fc) Both 1 and 2

{d) Neither 1 nor 2

24, In India, markets in agricultural

products are regulated under the

fu} Essential Commodities Act, 1955

(b) Agricultural Produce Market
Committee Act enacted by States

fc} Agricultural Produce (Grading and
Marking} Act, 1937

({d) Food Products OCrder, 1956
and Meat and Food Products
Order, 1973

25. Which one of the following is the national
aquatic animal of India?
fa) Saltwater crocodile
{b} Olive ridley turtle
{c) Gangetic dolphin
{d) Gharial
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26. With reference to Congress Socialist

Party, consider the following staternents :
1. It advocated the boycott of British

29. Which of the following brings out the

‘Consumer Price Index Number for
Industrial Workers™?

goods and evasion of taxes. {a) The Reserve Bank of India
2. It wanted to establish the dicta- {b) The Department of Economic
torship of proletariat. Affairs
3. 1t advocated separate electorate for {¢/ The Labour Bureau
rainorities and oppressed classes. (d} The Department of Personnel and
Which of the statemnents given above Training

is/are correct?
/ 30. In the context of modern scientific

fa) 1 and 2 only research, consider the following
(b) 3 only statements about ‘TceCube’, a particle
detector d at South Pole, which
1, 2 and 3 '
(o wa® refgntly he news :
(d) None ) .
1. 1 world’s largest neutrino
27. Consider the following statements : dete@jor, encompassing a cubic

1. The Rajya Sabha has no power kigmetre of ice.

either to reject or to amend a . Mt is a powerful telescope to search
Money Bill. for dark matter.

2. The Rajya Sabha cannot vote on 3. It is buried deep in the ice.
the Demands for Grants. Which of the statements given above
3. The Rajya Sabha cannot disfus! is/are correct?
the Annual Financial Stat
{a) 1 only
Which of the statements give bo (b) 2 and 3 only
is/are correct?

@ 1 onl {c} 1 and 3 only
) lam:Q , (@ 1,2 and 3
fe) 2 an 31. The terms ‘Agreement on Agriculture’,

@ 1,2 an ‘Agreement on the Application of
Sanitary and Phytosanitary Measures’
and ‘Peace Clause’ appear in the news
frequently in the context of the affairs

28. The Govermment ©f India Act of 1919

clearly defined

{a) the separation of power between of the
the judiciary and the legislature {a) Food and Agriculture Organization
{b} the jurisdiction of the central and fb) United Nations Framework
provincial governments o Conference on Climate Change
{c} the powers of the Secretary of State . {e} World Trade Organization
for India and the Viceroy fd) United  Nations  Environment
{d} None of the above Programme
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32. With reference to ‘Near Field Communi-
cation (NFC) Technology’, which of the
following statements is/are correct?

1.

It is a contactless communication
technology that uses electromagnetic
radio fields.

NFC is designed for use by devices
which can be at a distance of even
a metre from each other.

NFC can use encryption when
sending sensitive information.

Select the correct answer using the code
given below.

fa)
(b}
c}
{d}

33. The

1 and 2 only
3 only

! and 3 only
1, 2 and 3

context of the events related to

(b)

(c)

{dj

fa)

{b)

(e

fd)

Middle East

area known as ‘Golan Heights’
sometimes appears in the news in th
(@) Central Asia &
South-East Asia
Central Afri +
34. Convertibility e i es

being able t
into gold

ert rupee notes

allowing the value of rupee to be
fixed by market forces

freely permitting the conversion
of rupee to other currencies and
vice versa

developing an international market
for currencies in India
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35. Consider the following pairs :

Medieval Indian Present Region

State
1. Champaka Central India
2. Durgara Jammu
3. Kuluta Malabar

Which of the above pairs is/are
correctly matched?

{faj 1 and 2
{b) 2 only
fc} 1 and

) S‘x
36. Copsider oliowing rivers :

th
mgadhara
dravati
Pranahita

4.  Pennar

Which of the above are tributaries of
Godavari?

faj 1,2 and 3

(b) 2,3 and 4

fcg 1,2and 4

{d} 2 and 3 only

37. When a bill is referred to a joint sitting of

both the Houses of the Parliament, it
has to be passed by

fa) a simple majority of members
present and voting

{b} three-fourths majority of members
present and voting

{c/ two-thirds majority of the Houses
\(d} absolute majority of the Houses

~




32, ‘Tz & g=n (fee fieg wrgeea) (NFC) 35. Frfafas gt w famr Hif
T’ ¥ gl 4, fefifge = 7 §

-/ T A ”E“”W””W A
1. 9%  wsdia dOn fefe 3, @
B} E m MWWW 1. EH9% : HYEY H{II ™
?FFL 2. E‘ﬁ' HIRE LS8
2. NFC @ il (Rearmsdw) g0 S@m & 3. ¥ UL
R e e ik i it 8 @ A-m/d v ghfew /A7
w e H g o R R ww § @ 132
3. TITEhE gEN Y ¥ NFC S
() 1 I FGHA B (b) ¥F=W 2
93 R g Fe 1 WEW = T IR P 1#R 3

(@) ¥ 1 32 @ WQ
(b) A 3

36.ﬁ1=ﬁ%|ﬁ§a Wﬁwﬁﬁq
(c) Faw13R3

d 1,233
3. ot
33. ‘oM FEg@ H AW ¥ AN TW awen &9 . WEn

Frafefiag 3 3 frad w=fRa veaef & 9=

% we-%e] THER § ST 27 IR A ¥ -9 el B e Rt 37
fa} T TRMET fa 1, 23R 3
) T (flkw &=) (b 2,334
{c) afm-ud ufirm c) 1,234
(d) TEg STHIH (d) hae 2 3 3
34, 93 6 shEnfaa 37. 9% G6g ¥ a1 el H wgw BF A R
Tt e Qw) frr o &, o 3@ fRess
(@ TR FARF tﬁmmaﬂm e i o B 27
® m@&ﬁmﬁ & (q) 39fSra dwn 79 3 AE HER] W HER
gHd
T &l afr 3t =
“ mﬁ%ngﬁrmﬂgw ) 3@ T W P AW weEd W
YA FE H-hed Tgaa
@ W ¥ gEst ¥ R srwdde aww fc) W Q-frreré =g
ol (d) G F o TgER
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38. Which one of the following regions of Select the correct answer using the code
India has a combination of mangrove given below.,
forest, evergreen forest and deciduous
forest?
fa} North Ceastal Andhra Pradesh
{b) South-West Bengal
{c) Southern Saurashtra

(d) Andaman and Nicobar Islands 42. The Government of India has established
NITI Aayog to replace the

fa) 1 and 2 only
fb) 3 only

f¢; 1 and 3 only
{d 1,2 and 3

39. Which of the following kingdoms were

, , . fa) Human Rights Commission
associated with the life of the Buddha?

(b} Finance Commission

1. Avanti
Vet {c} Law Commission
2. Gandhara {d} Plannj mmission
3. Kosala
4. Magadha 43. What Conference, often

mentionedhi e news?

Select the correct answer using the code

. bel t isghe United Nations Conference
given below.

ustainable Development
fal 1,2 and 3 is a Ministerial Meeting of the
{6 2 and 3 only World Trade Organization
{

fcg 1, 3 and 4 ¢} It is a Conference of the Inter-

(d) 3 and 4 only governmental Panel on Climate
' Change
40. Wh_iCh one_of the following is ass al {d) It is a Conference of the Member
with the issue of control an ing Countries of the Convention on
out of the use of ozoe-dépleting Biological Diversity
substances?
n

{a) Bretton Woods re 44. Consider the following statements :

1. The Executive Power of the Union
of India is vested in the Pritne
Minister.

2. The Prime Minister is the ex officio
41. Consider the following : Chairman of the Civil Services
Board.

The arrival of Babur into India led to the
Which of the statements given above

1. introduction of gunpowder in the is/are correct?

subcontinent

2. introduction of the arch and dome fa) 1 only
in the region’s architecture (b) 2 only

3. establishment of Timurid dynasty ~ {¢/ Both 1 and 2
in the region (d) Neither 1 nor 2
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38, “ra % fFrefafas & ¥ 4 fre o #, fom
o, gl 99 3fiT Ui it o gEe 27

(a) UGS Y T

(b) <iEwI-viEm S

(c) efeeft wrmy

(d) 3r=ar R FrEr e

39. Frfafiga v=l § 4 fre oy 98 3 i
!
1. 3E=i
2. TFER
3. HEd
4. WY
= i T g W WM W EE IR GH
faj 1, 23M3
(b) ¥aA 2 3R 3
) 1,334
(d) Faa 3 st 4

40. Frafafiga ® § FH- @, AFA W
F 916 gEe] F wEm W R =
JiEg §9 | FE-aE w4 ( F
R Y g §7

41, Tr=fafgs w ffem i
T % HRE § 3R F HeEaey

1. I99EEN § S F I ) T T

2, 74 &3 6 wuEEd 1 gum AJR e
T il A 8]

3. W &7 § ol (Rmir) ussw wfia
7T
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= g e g w1 wEm W IR gR
faj e 1 3R 2

(b) FaEA 3

(c) aa 133

(d 1,233

42. W@ @R 3 A (NITD smEm R v
- F=fafae § @ s wuam o ¥ foe A R7

(@) THd AfER
(b o smam

c) iy
(dj l

43. 3H R A o =en f@+20
0) FFIT T 37

qoig fm (TRYEE STTAR) W
I B WU
(b}

g fag mmmunr " 1 wfafl
(TFefas) 9= &

(c) W& SeEg dfErd W AR-TER e
GFa-Tiea e o TR 39 W=
e 2

(d) T ¥ ffeus w F<wF F e o
1 geH B

44, frafafaa st o fmm fiflg .
1. wRE™ T # FEaE vy yuEs §
fem 21
2. wume, fafee @ 9 w1 w@F sy
g 2

9 ol A} FE-T /B T BfE
@) FFe 1

(b) HaH 2

c) 13 2aH

(d AN 1MIAH2
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45. The term ‘Goldilocks Zone’ is often seen
in the news in the context of

fa) the limits of habitable zone above
" the surface of the Earth

(b} regions inside the Earth where
shale gas is available

fc) search for the Earth-like planets in
outer space

{d) search for meteorites containing
precious metals

46. Who of the following organized a march
on the Tanjore coast to break the Salt
Law in April 19307

(a) V. O. Chidambaram Pillai
(b) C. Rajagopalachari
(¢/ K. Kamaraj

{d} Annie Besant

47. Who of the following founded a new ci
on the south bank of a tributary togi
Krishna and undertook to rule hj
kingdom as the agent of a dei
all the land south of the
was supposed to belon

fa) Amoghavar
(b} Ballala
{¢) Harihara

(d) Prataparudra

48. Consider the following statements :

1. The first woman President of the
Indian National Congress was
Sarojini Naidu.

2. The first Muslim President of the

Indian National Congress was
Badruddin Tyabyi.

B-AQN-O-JUA/63A
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Which of the statements given above
is/are correct?

fa) 1 only
(b} 2 only
fc; Both 1 and 2

{d) Neither 1 nor 2

49. Which of the following statements
regarding ‘Green Climate Fund' is/are
correct?

nded to assist the

elopi untries in adaptation
an ifigation practices to counter
climat® change.,

Bank and World Bank.

i? founded under the aegis of
K NEP, OECD, Asian Development

Select the correct answer using the code
given below.

{a} 1 only

{b) 2 only

f¢/ Both 1 and 2

{d) Neither 1 nor 2

50. Indira Gandhi Prize for Peace, Disarma-
ment and Development for 2014 was
given to which one of the following?

fa)j Bhabha Atomic Research Centre
(b} Indian Institute of Science
(¢} Indian Space Research Crganization

(d} Tata Institute
Research

of Fundamental




45, Tedicidd ¥R (Goldilocks Zone) ¥
Frafafaa # | frad a3 oK Ty=Rl A
@ o w7

(a) VT8 % FW g rved e

(b) 9= F st W TR &, Rk 9w AW
I B

fc) =re =Ry § geahl IR 18 hi @
(d} TS wiget ¥ gw Ieue

I w3 § PR/ wE R/
fa) Fad 1
(b) FEE 2
fc) 13 23

(@ FdmidARad2

(dfesinzm) N @ 49. ‘wiw wwEy By (R Fomie $e)’ % A d
Frafaiad § | SH-691/8 w9 9 §/37
46. 7 A P oW 1930 ¥ T9F I dSA ¥ 1. gm M ! oy afEdd
T G e WU O ST wafea femn an? AT AR AR
fo 20 4 % I 9 =11 R
fa) =lo 3o e @UNEP, OECD, tfmn fowg &=
(b) Ho T @Eﬁ%%%mﬁwﬁﬁﬁm
{c) o FHIE &
d) ¥ H3 fw e w2 1 T R 9 IR g
(@) FHEA 1
47, i A fEm Fom T A weEs W)
T W TH 43 TR F) T A (b) FFA 2
P R R R R
# T o cj 13 2aA
O '# (@) Ad13mad2
CA L 50. 98 2014 & fom Ro «fH R, e
{c) ERE WuW 3R T goerR frafafias § @ fem @ =
fean man a?
(d) waraes fedfr

48. fFrafefas wuat w R it .
1. wrda 1 wim 6 gum afgen stwae
wafseh amag ot

vty wfe H0E ¥ wom gitem g
FEEEA TS o 9

2.
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51. With reference to the Cabinet Mission,
which of the following statements is/are

correct?

1. It recommended a federal
government.

2. Itenlarged the powers of the Indian

courts.

It provided for more Indians in
the ICS.

Select the correct answer using the code
given below.

{a) 1 only
(b} 2 and 3
f¢g 1 and 3

{d} None

52. Which one of the following National Parks
has a climate that varies from tropical to

{a)
(b)
c)
(d)

Khangchendzonga National P
Nandadevi National Par
Neora Valley Nationald P

Namdapha o

53. Amnesty Interna' lis

fa)] an agency of nited Nations to
help refugees of civil wars

(b)
fc)

a global Human Rights Movement

a non-governmental  voluntary
organization to help very poor
people

{d) an inter-governmental agency to
cater to medical emergencies in

war-ravaged regions
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54. With reference to the art and archaeo-
logical history of India, which one
among the following was made earliest?

(a) Lingaraja Temple at Bhubaneswar

(b} Rock-cut Elephant at Dhaulj

(¢ Rock-cut Monuments at
Mahabalipuram

(d} Varaha Image at Udayagiri

5§5. With reference to Indian history, which
of the following is/are the essential

element/ele s of the feudal system?

1. A%e entralized political
au d a very weak provincial
or loc olitical authority

erflence  of  administrative
cture based on control and
ssession of land

Creation of lord-vassal relationship
between the feudal lord and his
overlord

Select the correct answer using the code
given below.

faj
(b)
{c}
{d)

1 and 2 only
2 and 3 only
3 only

1,2 and 3

§6. BioCarbon Fund Initiative for Sustain-

able Forest Landscapes’ is managed
by the

{a)
(b}
{c)

Asian Development Bank
International Monetary Fund

United Nations
Programme

World Bank

Environment

(d)




1 MRoe Rum b wed & Pofe § @ 54, v ¥ Fen ol guaies fww § e A

T

-1 /R T we g7 frfefas 3§ @ B = w1 v e Faf
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Jorrfa & 39, e iR aERE o S
e B 27 3. AW ol 39 Aftmta % <= W@H-aE
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(@) S A I i fem g e 1 R AR wE I g
(b) TR T H (a) Faa 1 3R 2
(e} U A JvF@ T (b} “aa 2 3R 3
(d) TSR W 9T (c) a3
. (d 1,233
53. e e S
(a) TEGE & TEE & fole 9% 56. ‘GEFEA $8 IHRMRE W ERAEE wRE
T T Sgwh@ (BioCarbon Fund Initiative for
Sustainable Forest Landscapes) %I
(b) TaweTd T AR I o Fraffad § @ 9 a7
(c);ﬁfﬁdqsﬁvﬁﬁm%%qw (@) ufirm fawm 3%
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¥ fme el ‘ﬁ—rm () STt e f
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57. India is a member of which among the
following?

1. Asia-Pacific Economic Cooperation

2. Association of South-East Asian
Nations

3. East Asia Summit

Select the correct answer using the code

given below.

fa} 1 and 2 only

{b) 3 only

fc 1,2 and 3

{d) India is a member of none of them
58. In India, the steel production industry

requires the import of

{a) saltpetre

{d) All of the above

Fifth {Bchedule and
he nstitution of
T t

O L8]

fa) protect the interests of Scheduled
Tribes

{b) determine the boundaries between

States

fc) determine the powers, authority
and responsibilities of Panchayats

{d) protect the interests of all the
border States

B-AQN-O—JUA/63A
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60. With reference to the Union Government,

consider the following statements :

1. The Department of Revenue is
responsible for the preparation of
Union Budget that is presented to
the Parliament.

2. No amount can be withdrawn from
the Consolidated Fund of India
without the authorization from the
Parliament of India.

Syt

1
®

of the statements given above
& correct?

{a) 1 and 2 only

(b} 2 and 3 only

(c/ 2 only

(d) 1,2 and 3

61. Who/Which of the following is the

custodian of the Constitution of India?

fa) The President of India

{b) The Prime Minister of India

{c) The Lok Sabha Secretariat

{d) The Supreme Court of India




57. wa Ffafias 1 4 feam /fee gew 27
1. f-ge i e (vfEn-

Yfyfer gwaifirer HistioEm)

2. gm-gd  wREE W oW W
(TERTEA 31T ey~ UREA 49)

3. qf whm BrR wiem (§R dRE
)

FR g g g2 w1 TEE = wd I
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(b) Faa 3

fc) 1,233

(d) a7 | el @ wew aff

58. WA ¥ TWE IWEA Jam & Frefafea § @
forad amam #I 3 @ 27

fa) I
(b) 9t ighe (U wieke)

(0w (D S ®
(d) 394 Toft

59. WA & dhaud afw Bt g
F I o g &7
(q) FERE SAEl & bl ¥ mew ¥
s

(b) TEY % fia dmed ¥ faufor & fag

c) TEWmI H  wheEt, WER &l
It & fufta & fom

(d) st @adl et ¥ Rt ¥ dw R
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{b) Faw 233

fc) a2

(dy 1,233
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(Feifsam) 87
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(c) T T WEEEE
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62. Consider the following statements : Select the correct answer using the code

1. The Accelerated Irrigation Benefits given below.

Programme was launched during faj 1 only
1996-97 to provide loan assistance {b) 2,3 and 4
to poor farmers. ¢/ 1 and 3
2. The Command Area Development {d) 1,2 and S
Programme was launched in
1974-75 for the development of 65. Basel III Accord’ or simply ‘Basel IIT’,
water-use efficiency. ' often seen in the news, seeks to

fa) develop national strategies for the
conservation and sustainable use
of biological diversity

Which of the statements given above
is/are correct?

{fa) 1 only fb) impro nking sector’s ability

() 2 only ® th ﬁngncnal a'nd
ecofami@ stress and improve risk

fc) Both 1 and 2 mang ent

{d) Neither 1 nor 2 duge the greenhouse gas
elbissions but places a heavier

de developed tri
63. The Genetic Engineering Appraisal reen on develoged countries
Committee is constituted under the d) transfer technology from developed

countries - to poor countries to
enable them to replace the use of
chlorofluorocarbens in refrigeration
with harmless chemicals

(a) Food Safety and Standards Ac
2006

(b) Geographical Indications of

(Registration and Prote 66. Consider the following statements :

1999
_ 1. The winds which blow between
{¢) Environment (Protection) 986 30° N and 60° S latitudes through-
(@) Wildlife (P . =970 out the year are known as

westerlies.

2. The moist air masses that cause

64. In the Mekong-
g winter rains in North-Western

initiative of six

ooperation, an
ntries, which of

the following is/are not a participant/ regionl' of India are part of

participants? westerlies,

1. Bangladesh Whn:h of the statements given above
is/are correct?

2. Cambodia @ 1 I
a only

3. China (b) 2 only

4. Myanmar f¢; Both 1 and 2

5. Thailand {d) Neither 1 nor 2
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62. fr=fafan wud | fFER Al

1. w@hm Rl @w wEEe 199697 #
nﬁa%mﬁaimmwwm@
% fow sy fen maw e

5. FaiE & faem wRER 1974-75 §
o3 saW ¥ fwm ¥ o
o T A

oG wud § ¥ FR-A1/R WE R/
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(b} F9E 2
) 1322
[d AW 1IAF 2
63. few hfafn s wfifa = A
freafifaa # § fras andi fen mn @7

(a) ET G TE WS AulEE, 2006
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(d) 1,23W5
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{fa) FEa1
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67. With reference to Indian Ocean Rim 70. Tides occur in the oceans and seas

Association for Regional Cooperation due to which among the following?
(IOR-ARC)’, consider the following
statements : 1. Gravitational force of the Sun
1. It was established very recently in 2. Gravitaticnal force of the Moon
response to incidents of piracy and
accidents of oil spills. 3. Centrifugal force of the Earth

2. Itis an alliance meant for maritime
security only. Select the correct answer using the code

given beilow,
Which of the statements given above

is/are correct? fa) 1 only

b) 2 only
fc) 1Q9nd® only

fc Both 1 and 2

(d) Neither 1 nor 2 192 and 3

68. Which one of the following movements . . o
has contributed to a split in the In which of the following activities are
Indian National Congress resultin: Indian Remote Sensing (IRS) satellites
in the emergence of ‘moderates’ used?
‘extremists’?

1.  Assessment of crop productivity
{a) Swadeshi Movement

2. Locating grcundwater resources
(b) Quit India Moveme

() Non-Cooperation ffove 3. Mineral exploration

{d) Civil Di dience ment 4. Telecommunications

5. Traffic studies

69. In a particul India, the local

people train ots of living trees X
into robust bridges across the streams. Select the correct answer using the code
As the time passes, these bridges given below.

become stronger. These unique Tiving

root bridges’ are found in fa) 1, 2 and 3 only

{a) Meghalaya
{b) Himachal Pradesh
{¢) Jharkhand | fc) 1 and 2 only

(b) 4 and 5 only

(d) Tamil Nadu {d 1,2, 3, 4and5
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{a) FaE 1
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2. ¥m W& (UEsAR)  wEwE W
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72. Consider the following States :
1. Arunachal Pradesh
2. Himachal Pradesh

3. Mizoram

In which of the above States do ‘“Tropical
Wet Evergreen Forests’ occur?

fa] 1 only

{(b) 2 and 3 only

fc) 1 and 3 only

(dl 1,2 and 3

73. The term TIndARC’, sometimes s in
the news, is the name of

(b} India'’s sateilité®’tc provide services
to the countries of Indian Ocean

Rim

{c/ a scientific establishment set up
by India in Antarctic region

(d} India’'s underwater observatory to
scientifically study the Arctic region
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74. With reference to ‘Forest Carbon
Partnership Facility’, which of the
following statements is/are correct?

1. It is a globa! partnership of
governments, businesses, civil
society and indigenous pecples.

2, It provides financial aid tc
universities, individual scientists
and institutions invelved in
scientific forestry research to
develop eco-friendly and climate
adaptation technologies for
sustai forest management.

e countries in their
educing Emissions from
Defore ation and Forest
gﬁdatlonﬂ’ efforts by providing
em with financial and technical
ssistance.

Select the correct answer using the code
given below.

fa) 1 only
(b} 2 and 3 only
fc) 1 and 3 only
(d 1,2 and 3
75. Which one of the iollowing was given
classical language status recently?
{a] Odia
(b} Konkani
fc) Bhojpuri

fd} Assamese




72. et o=t w REw A
1. IROTEE TN
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A werell = A §7 :

{a) Fae 1
(b) HaA 2 3 3
fc) ¥ad 133

[d) 1,23R3
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75. 3 & § Frafafga 7 @ e v W

74, ‘T wEA uried glw (B FEa e

wfafar) ¥ wed ¥, fofafes # w

PH-T/8 FoT udll 7/37

1. ¥% WFN, =Heaml, TmieE gue dHR
oft o (e divew) f T At
arigRt 2

2. B uRog (FRAEE) 9 W g
TatEer- SR ($R-SFgE) iR Ty
Aggen (FemEE YRReN) vrenfiieal
GFas) & faem ¥ A St
iR argEam ¥ o fagfaened, R
(fefgem) it T wwned =
forefta FA R

3. o ANE, O weEE ok @-
N' w1 T (e
g OFE  dwiw s I Wi

+) (REDD+)] W&l # fadra
‘ FFAE TEE YEH W, HIg F@! R

fou 7T e 1 W T EE IR gHET

(@) F&a 1

(b) Fact 2 3 3

fc} *aad 1 3R 3

(@ 1,233

L3
e VT (FeATlee oee) W S (V)
fom mm 7

fa)

(b} il

(c) ¥rTgh

) st
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76. With reference to an organization known 79.
as BirdLife International’, which of the

following statements is/are correct?

1. It is a Global Partnership of
Conservation Organizations.

2. The concept of ‘biodiversity
hotspots” originated from this
organization.

3. It identifies the sites known/

referred to as Tmportant Bird and
Biodiversity Areas’.

Select the correct answer using the code
given below,

{a} 1 only

{b) 2 and 3 only
{c)
{d 1,2 and 3

1 and 3 only

77. Which one of the following countriedlo

the Mediterranean Sea? 80.

faj
(b)
fc)
(d)

Syria

Jordan ®
chano@

Israel

78. In India, in which one of the following
types of forests is teak a dominant tree
species?

(@)
fb)
{c)
(d)

Tropical moist deciduous forest
Tropical rain forest

Tropical thorn scrub forest
Temperate forest with grasslands
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South-West Asia does not open o] 2

‘Beijing Declaration and Platform for
Action’, often seen in the news, is

(a) a strategy to tackle the regional
terrorism, an outcome of a meeting
of the Shanghai Cooperation
Organization

(b) a plan of action for sustainable

economic growth in the Asia-Pacific

Region, an outcome of the delibera-

tions of the Asia-Pacific Economic

Forum

(¢} @n ndaor women’s empower-

t, outcome of a World

Coniégence convened by the United
N

a@ns

strategy to combat wildlife
trafficking, a declaration of the
East Asia Summit

“Each day is more or less the same, the
morning is clear and bright with a sea
breeze; as the Sun climbs high in the
sky, heat mounts up, dark clouds form,
then rain comes with thunder and
lightning. But rain is soon over.”

Which of the following regions is
described in the above passage?

fa} Savannah
(b) Equatorial
{c¢} Monsocon

{d) Mediterranean




76. ‘9% EETAW (BirdLife International)’
T Wt % wed #, fefafew d @
AT/ T GE R/E?

1. Ig g @a ) s amie §1

2. Ym v elewic’ & wwen W
S | YE g

3. T ‘mHemqd udt W = R &
(w2 Tz sewaiiR duw) %
w4 § ya /e el ) veem w@

CERRETA IR G o Rl (£
() FaE 1

(b) Ha= 2 3t 3

¢/ Faa 133

d 1,23M3

77, fim-uiyd o = Fefafee & @S-

T 39 AERIR T Sen Wl 27
fa) Hif

(b} SEA

() WA

(d) T +

78, wrd ¥d, F=fafea o T9-yEFY 1,
qria (H) TF wvret gy wdiefi 27

(a) ToTEREHY o7E wolurdt &
(b} ToEHfEETg Al @A
fc) ITHZEYT FEeh T @

(d) CTHSITYT SdmT o
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79. 913: BN & 3@ 99 awh e gwen ek
Fiad e (ffm ferermm de e wR1
Fam)'ﬁw%i%ﬁﬁéw%?

(@) &fta aware § Faed ) s
(W), vord weam wied (3
HAIA AvfEeI) f d9F =

e
(b) ThRmE-weEa &3 A yrofa oide wdfs

(c) =l T T FEH,
L3 g 9oeR w1 @

gfrs

*
%Gﬁa‘i%m (e <t Asprum
& FHAfs, T e e w2

of¥rn i) i o IgHme

TeA W B, 54 WEe 994 @ & el i
Tl W S v fowel f v F oy Tw
B ol ¥ Sf gl e @ wam @
217

I Iem § Frafafaa aef 8 9 frm afa
fopar wn B7

8O “‘® Rm wmEwm wE-w A B }) gER, wER
e S % WY, W o I R
® - g arFw § FW T w3, i

fa) wE

(b) Togac
(c) g
(d) AR

[P.T.O.




81. With reference to Indian economy,
consider the following statements :

1. The rate of growth of Real Gross
Domestic Product has steadily
increased in the last decade.

2. The Gross Domestic Product at
market prices (in rupees) has
steadily increased in the last
decade.

Which of the statements given above
is/are correct?

e 1 only
{b) 2 only
{c) Both 1 and 2

fd} Neither 1 nor 2

82, Consider the following statements :

1. The Legislative Council of
India can be larger in size t
of the Legislative Ass o
particular State.

2. The Gove ominates
the Cha lative Council
of tha lar State

Which of the s
is/are correct?

ments given above

{fa) 1 only
{b) 2 only
{¢/ Both 1 and 2

{d} Neither 1 nor 2
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83. “To uphold and protect the Sovereignty,
Unity and Integrity of India” is a
provision made in the

faj Preamble of the Constitution
(b} Directive Principles of State Policy
{c) Fundamental Rights

{d) Fundamental Duties

B4. Which one of the following is the best
description of the term ‘ecosystem'?

fa) A community of organisms
inter, with one another

\
{b) t t of the Earth which is
inh@kited by living organisms

A gpmmunity of organisms together
ith the environment in which
they live

{d) The flora and fauna of a
geographical area

5. The fundamental object of Panchayati
Raj system is to ensure which among
the following?

1. People’s participation in
development
2. Political accountability

3. Democratic decentralization

4, Financial mobilization

Select the correct answer using the code
given below.

{a) 1, 2 and 3 only
{b) 2 and 4 only
fc/ 1 and 3 only
{d 1,2, 3 and 4




81. WA e & wed #, Frfafan st 83. “‘wmd ) Wy, ww@ AR ImEEd A @ w

W e R afit 30 arggwor @1’ A% IvEy TRes TR TN
1. Tod o= § arafos gva =g 39E &
# 9fe -t ear aed w R () wfaaE $ 2R
2. Ted cow § e @l w (FE ) .
T U] IUTE TR a5 @ 2 () T A b
(c) TE AfEER
T el W -/ T R/
(d) 9 FA
(a) FFE 1
84, frefafaa 3§ @ F-m %, wies (fRfrem)’
(b) Faa 2
fe) 132 <
() AT 1IMAE 2
&(c) el (i) W wgEm iR @y @
g wataro R 2 w@ #
82. Frafafes Fui w fa=m Hitw ) T mifas & % wwfas e
1. wna & freht T A Ruw BULSIL
# 39 teg B v wn $
TR T 2 85. OA TN e b g R F@ GHEE
2. fedt o=g = | frum Exc ik
g % 9 T R 1. fowm § sw-vpier
2. TeHifo SEEE
T Tt TNG-T T A 3. it R
4. g qugw (Wit DfEcssee)
fa) a1 .
= fog e g2 =1 wam | wd I gRw
(b) I 2 @) ¥ 1, 2 33
(b} Fad 2 3l 4
{c) 13w 2=
fc) Fa@ 1 3R 3
(@) T 1smadt2 [d) 1,2, 334
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86. With reference to Indian economy,

consider the following :

1. Bank rate

2. Open market operations
3. Public debt

4. Public revenue

Which of the above is/are component/
components of Monetary Policy?

{aj 1 only

{b) 2, 3 and 4
f¢g 1 and 2
{d 1,3 and 4

87. With reference to inflation in India, which

of the following statements is correct?

{aj Controlling the inflation in India is
the responsibility of the Government
of India only

{b) The Reserve Bank of India has no
role in controlling the inflation

{c) Decreased money circulation helps
in controlling the inflation

{d) Increased money circulation hel
in controlling the inflation

88. Consider the following countriega:

1. China

2. France

3. India +
4, Israel

5. Pakistan

Which among the ve are Nuclear
Weapons States as recognized by the
Treaty on the Non-Proliferation of
Nuclear Weapons, commonly known as
Nuclear Non-Proliferation Treaty (NPT)?

fa} 1 and 2 only

() 1, 3, 4 and 5 only
fc) 2,4 and 5 only
fd) 1,2,3,4and 5
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89. The ideal of ‘Welfare State’ in the Indian

Constitution is enshrined in its

(a) Preamble

(b} Directive Principles of State Policy
e} Fundamental Rights

{d} Seventh Schedule

90. The substitution of steel for wooden

ploughs in dgri@ultural production is an

examﬁe o

{a) labour-@ugmenting technological

Q}gﬁss

(b pital-augmenting technological
progress

fc) capital-reducing technological

progress

(d) None of the above

91. There is a Parliamentary System of

Government in India because the

{a) Lok Sabha is elected directly by the
people

(b} Parliament can amend the

Constitution
(c) Rajya Sabha cannot be dissolved

{d} Council of Ministers is responsible
to the Lok Sabha




86. wd wdegaen & =y ¥, A=fafas =
farm i
1. 9%
2. Gefl IR FHiars (U Arhe. AT
3. @ wY (UfeTs 2w)
4. drF a9 (afes W6)
Igw § A BA-w/A OEE A w/F 9o
B/8?
(a) Fa4 1
(b) 2, 334
c) 132
(d 1,334

87. W@ i gEehify % w=d A, Ffofan +t §

¥ F-w | 27

(a) @ W gEehfy w1 FEEm FEe uwe
TR 1 TSR 3

(b) TR % Faw & wiea ford @ R
wI% fir T ®

() T T3 g whEed (Wi wgEE),
warefifs % Frmm § wema = 8

faws wfy (S T A-DRTREH e
=it 39-8) R weT=re: g srwer wi
(e AF-nfreeE d9) (NPT) F W R
SET W@ ®, # WE %k OSTgER, W]
YR -HE T4 (FFea 300 V) §7

faj FaA 1 3R 2

(b) ¥ 1, 3, 4 35

(c) ¥a 2, 435

[d) 1,2, 3, 43R5
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89. WA % HEgH ¥ ‘FeuawEnl TS & HEd

Tore wiomita 27

fa) SfrH

(b) Tm f A F TR T
(c) TF HAEER

(d) wret g

00. F & %@%wmm%
Al & # ¥ feww e
&
TR atclt MafEhR (Fdea)
LG

(b) G s Teh P Wl
(c) Eft g Tt drififia wifa

(d) I AT T T

91, WG ¥ G2 Wuelt & TR B, HifE

(a) TFH BN A T EE w9 A Faika
Bt @

(b) TEG, WfUM % GINEA L Hhdl B
o US| H 97 e R 1w

(dj WEERSE, A w0 % wis SoErl 2

[P.T.O.




92. H1IN1 virus is sometimes mentioned in 95. With reference to ‘fuel cells’ in which

the news with reference to which one of hydrogen-rich fuel and oxygen are used
the following diseases? to generate electricity, consider the
following statements :

fa) AIDS

. 1. If pure hydrogen is used as a fuel,
(b} Bird flu the fuel cell emits heat and water
(c) Dengue as by-products.
(d) Swine flu 2.  Fuel cells can be used for powering

buildings and not for small devices
like laptop computers,
93. With reference to bio-toilets used by the

Indian Railways, consider the following 3. Fuel cells produce electricity in the
statements : form ating Current (AC)
L 4
1. The decomposition of human waste
in the bio-toilets is initiated by a Which ofSghe”statements given above
fungal inoculum. i € co‘rc t?
2. Ammonia and water vapour are
the only end products in this only
decomposition which are released
into the atmosphere. {b) 2 and 3 only

Which of the statements given abave

. fe} 1 and 3 only
is/are correct?

fa) 1 only {dl 1,2 and 3

b} 2 only ®
{¢) Both 1 96. Kalamkari painting refers to
2

{(d) Neither 1 f{a) a hand-painted cotton textile in
South India

94. The problem of international liquidity is )
related to the non-availability of (b) a handmade drawing on bamboo
handicrafts in North-East India
{a} goods and services

fc} a block-painted woollen cloth in

(b} gold and silver Western Himalayan region of India

{c} dollars and other hard currencies

(d) a hand-painted decorative silk
{d) exportable surplus cloth in North-Western India
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92. HIN1 5o %1 wa: wwew] § frsfoaRas A | 95. ‘WA W (fuel cells), FEY TRg=M A

fre = d9r F wed § 9@ e s &7 agg v M iR W 3w Ty @
F¢ ¥ T @ 2, % vl # Ffefiae wer

fa) TZE (AIDS) R fem Fifrg

b = 1. 4 & T F1 I9E e F ¥9 B
A 2, O WA @ I-IOE

fe) 3 (a-iewe) ¥ 9 A Fom Ud WA A
IS T B |

(d) ¥ H

2. VAT 9 F 3G El F Ry, W®E
¥ foag @ fen s v R, ey dueia

93, WM Y& TW WM F T WR TR Fege W o ghear (Remds) %

et (amh-fardm) ¥ wd , Fraffm fer
FeE o femm il .. 3. gl (AC) & &4 H
1. ¥ e § o e W s ‘fx F 2

®TA W (fungal inoculum) A

fra (eRTe) 21 21 ¥ BW-91/3 T B/R7
2. 39 WU & T IO Faw Iy
T w-ar g &, S arguoest § Frjw
GELRY (B) Faa 2 ¥R 3
! ?
Ig Al A W HH-H/A Al /R © 1 s
fa) Fad 1
[d 1,23R3
(b) HIA 2
fe) 1 a2 @t
06. wHaawt Frawen Ff¥e (W) e
(d) @1 .
() FRwm 9wa F gt 7@ W owy ¥ B T
I EEAI]
94, FTWYH T ( ) & wwEn featafad
ﬁ%ﬁﬁaﬁwﬁmﬁﬁaé? b) JER wrE | stq % Tt | T A
. [CEIRCIREE ICol
() L I Hard

3N (saTew) | ) M Feem
c) TR R I BE FHEH
“ g ) () Im-ufepfl va ® gemed Gl 9| W

(d) frafa-avg S3ft (Eeew) : T 8 6 T R

B-AQN-O-JUA/63A 35 [P.T.O.




97. Which one of the following best describes

the main objective of ‘Seed Village.

Concept™?

{a) Encouraging the farmers to use
their own farm seeds and
discouraging them to buy the seeds
from others

{b} Involving the farmers for training

in quality seed production and

thereby to make available quality
seeds to others at appropriate time
and affordable cost

fc¢) Earmarking some villages

exclusively for the production of

certified seeds

{d} Identifying the entrepreneurs in

vilages and providing them

technology and finance to set up
seed companies

98. There has been a persistent defi
budget year after year. Which

following actions can be taken th
government to reduce the d ?

1. Reducing revenue expe

2. hemes
3.

4,

Select the correct answer using the code
given below.

(a)

(b} 2 and 3 only

1 and 3 only

(c}
(d) 1,2, 3 and 4

1 only
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99, Which of the following has/have been
accorded  ‘Geographical Indication’
status?

1. Banaras Brocades and Sarees
2.

Rajasthani Daal-Bati-Churma

3. Tirupathi Laddu

Select the correct answer using the code
given below.

fa) 1 only
‘ Q
{b) 2 \ nly
@an&

2 and 3

only

With reference to the Indian Renewable
Energy Development Agency Limited
(IREDA), which of the following
statements is/are correct?

1. It is a Public Limited Government
Company.

2. It is a Non-Banking Financial

Company.

Select the correct answer using the code
given below.

{fa) 1 only
(b} 2 only
fc} Both 1 and 2

{d) Neither 1 nor 2




97. frafafae & ¥ ¥9-a1 @, ‘fi9 om wFe
(e focw wiw)’ % Y@ IRy w1 g9
ol ta1 87

(@ Fradi & s @ a5 6§t w1 wEm
F0 % fae Neanfea e o 32 g@d |
i wliet & fae edemiea F

(b) TFal A TR e IeT T i
A T IR I gR e H ugim
T W A 9 W A Trm §
TVTAT WS 39EeY A

(c) TS TW F TG T F yENE fS F
Sered & o @ e (saond) =

(@ mH i saftEt 9 afinge (argEher)

FET a9 I i wfEt S e w50
% T Seifieh ot R 3uasy s

98, =d-ufted = 51 1 e @ ¥ R

O ¥ I R T A - 1

Fifam /wriamgat f .1 wwd 2/87
. UwE-=g T w) @
FE FEORI

3I9ET ( ) AT
&

P b -

4 fog g = & I ghwl
(@) a1 3R 3

(b) A2 3l 3

(g e 1

[d} 1,2, 334
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99, ffafga & & fram/fem Tmifas g=

27

1. SARE @ 3R arfeat
2. U Sra-aE -
3. feeuld og

= g gz #1 wW@m R 7@ 39 gh)

fa) ¥ad 1

. v sgm 3et fgem il fafaes (IREDA)

F g A, Fmafafas 3 @ F9-w/0 =u= wd
/87

1. T UF ofeew fofins o =of )
2. TR U -t fodm w2

= faw gz F o w3 gfg
(@) FaA 1

b) A2

fo) 131 23R

(d) Id@1dRAE2
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